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LC19 NRC Exam

1-75 RO / 76-100 SRO Only [Tvatbe 1 [ [ a e a e a el aaaafa ]
Date: 06/13/2011 KEY ANSWERS:| B | D A|B|D[B|C|A]|C D/C|C|B|[C|D|C[B|A|B|A A|A|B|[B|DID|C|B|D|D|A|B|B|[A|D|B|D|B|A|B[C|B|B|C|A[A|B
Name TOTAL%| PTS | 1|2[3|4[5|6|7|8]|9[10]11[12]13|14[15|16[17[18|19/20(21]|22]|23[24|25/26|27|28[29|30(31|32|33[34|35/36|37|38(39)|40(41|42|43|44|45[46|47|48|49]| 50
95.0 95.0 A C
96.0 96.0 C
86.0 86.0 B|C B C D B D
93.0 93.0 C A
95.0 95.0 C A
92.0 92.0 ClA A
95.0 95.0 B
84.0 63.0 B|B B B B C B
90.7 68.0 ClA D B D
96.0 72.0 C D
92.0 69.0 B A D
88.0 66.0 B B D A B A
94.7 71.0 C B
Total Missed 41411 1 1/5[1 2 3|5 2 101]1 4 1 3 1 1
[IVALUET A TA (A T A A A A A A A A (A A A A A A A T A A T A A A A A A A A A A A A A A A A AT A A A [ [T [a] 111
KEYANSWERS: |A|C[D|B|B|A|A[D|B[A|C|C|C|B[D|A|C|C|B|D|[D|C|B|A|C|D|[C|C|B|D|C|A|C[D|D|A[C|B|[B|AJA|C|D[A|D|B|D|A[C]|D
SRO % | RO% [51]|52|53|54|55|56|57(58|59|60|61|62(63|64|65|66|67[68|69|70(71|72|73|74[75|76(77|78|79|80|81(82|83|84|85|86(87|88[89|90|91[92]|93|94|95|96(97|98|99(100
92.0 96.0 B A A
92.0 97.3 A B D
88.0 85.3 D A C A A D|C
92.0 93.3 B ClA A D
92.0 96.0 B B C
88.0 93.3 A C A A D
88.0 97.3 A D A|D
84.0 C C A D A
90.7 D D
96.0 C
920 | B B A
880 | B D A
94.7 A C
Total Missed | 2 1 311]1 6 1 21|61 1121 6 3 2 113[1 1
SRO Total Points = 100 A complete review of all questi that were missed will be conducted on Tuesday June 21, 2011. Any specific knowledge deficiencies identified will be captured and a Condition
RO Only Points = 75 Report will be initiated as necessary.
SRO Only Points = 25
[ RO Questions Average = 92.6
[ SRO Questions Average = 90.3|
[ Class Average = 92.1]

Analysis Results

Question 061: Reviewed question and asked candidates why the selected distractors A and D and they could not remember verifying core cooling prior to terminating ECCS flow so they selected an answer that addressed
subcooling and/or pressurizer level as parameters to allow ECCS flow termination. No further action required.

Question 067: All candidates that missed question selected distractor A as they believed that the limit only applied to MODES 1 and 2. On review they understood why the applicability is MODES 1 through 4.. No further action
required.

Question 077: Six of seven SRO candidates missed this question. This knowledge gap is included in CR-2011-006939.

No chnages were made to the exam during administration. The exam given was the exam approved prior to administration. No questions were challenged and the results are accepted as listed on this spreadsheet (the score
on the exam cover sheet are not rounded as in the spreadsheet)
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